How to install Jakoustic Highway Fencing.

Thank you for choosing Jacksons Fencing. Our high quality fencing products will
last for years and give you trouble-free service if you follow the installation instructions

below, which are offered as a general guide.

Please read this in conjunction with the drawings or the Jakoustic Specifiers Guide.

‘I-beam’ Posts

1.

Fit nail batten

(100x50 sawn timber) to I-beam post (if required). Use M8 x 65 stainless steel coach bolt, washer & nyloc nut
through the pre-drilled holes in the flange of the beam at =500mm centres. The top of the nail batten should
protrude by =100mm above the top of the steel post.

Set posts in concrete

2.41m centres. Top of steel post at nominal fence height above ground level (nail batten may be partially
buried).

If using an acoustic board to determine post spacing check the length of the board and ensure the centres are
actually spaced at 2.41 / 4.82m leaving a gap at the end of each board if necessary. Board lengths do vary. If
this is not checked, board joins may not be covered in the posts

Steps in fence height (if req'd) should be made in multiples of 125mm board height.

Install Boards.

Note - Base board has no groove.

Each 4.8mLg board should be half staggered with the boards above and below. Much of the structural
strength of the fence comes from the way the boards are installed, in a similar fashion to brickwork.

Boards are built up the front of the nail battens, each 4.8mLg board should be nailed to 3No posts, with 2No
75mm galv. nails per post, each driven in at an angle. If necessary a lorry strap can be used to pull any bowed
boards together.In high winds, cover boards should also be fixed as the installation progresses upwards to
prevent collapse (see below).

To finish fencing

Trim the nail batten level with the top board. Fit the capping rail (145 x 35) along the length of the fence, use
deck screws down into the top of the nail batten. At each post position screw a 120x35 cover board up the
full height of the fence, to disquise any bruising caused by nailing. Use 100mm long Timberlok screws at
500mm centres up the full height of the fence (for a fence in excess of 3mH this cover strip may be supplied
in more than one section. Always use the longer section at the base of the fence.

Between cover boards, push 70 x 35mm counter rails tight to capping rail (to either side of top board) and fix
in position using deck screws (@600mm centres), then screw capping down to counter rail.

Jacksons

Fine Fencing, Gates & More

www.jacksons-fencing.co.uk

DRB Reviewed (AT) 09/12/2011 JFW 34 Issue 01 Page 1 of 1




DO NOT SCALE — [IF IN DOUBT ASK
NOTES

MAT'L — STEEL POSTS
GALVANISED 127 x 76 x 15 UNINVERSAL BEAMS —

SECTIONS VARY WITH HEIGHT 2400 TYPICAL
} } 2350 TYPICAL 2400 TYPICAL INTERMEDIATE
— TIMBER TREATED WITH "JAKCURE" PROCESS END POST CENTRES INTERMEDIATE POST CENTRES POST CENTRES
ACOUSTIC BOTTOM BOARD — 146 x 34 THK (125 Nom. FACE) o
ACOUSTIC T&G BOARDS — 146 x 34 THK <W25 Nom. FACE) N
TIMBER BATTEN — 100 x 50 THK SAWN FINISH ~ - u
CAPPING RAIL — 145 x 34 THK PAR x iy - INSIDE 76>y,
COVER STRIP — 125 x 34 THK PAR ‘ /:\\ ~ - -
COUNTER RAIL — /0 x 34 THK PAR / '
ALL FIXINGS ARE GALVANISED OR STAINLESS STEEL \ zEEEEEEEEEEEEEi?E,EEEEEEEEEEEEEE??EEEEEEEE
-3 ! r (100>
@
a
7 .
CAPPING RAIL
7 SCREWED TO COUNTER TYP BUOARD LENGTH 4800
/ [RAIL & NAIL BATTEN
COUNTER
RAIL TN [ 2 B END BOARD LENGTH 2400 N
/ . % M8 BOLTS @ 500mm &
‘TIMBERLOK’ SCREWS AT MAX CENTRES A
S00mm MAX CENTRESW; / ; ‘
== T Ty _ I T \
\ = T | i i i
= / 5 __——— e _—— = —lll = == = = - -
COVER STRIP == { H H i
(INo PER POST) I f = > T e — e o —
TO COVER BOARD = // WD H 2 A HH ********* = *****;H* ************** *HH} **********
JOINTS AND FIXINGS x H — | == fA—————M— —————————————— =
:\D _ L T = \I\‘ 7777777777777777 e - - e - - __
T & G BDARDS - 100 x 20 L E a8 H“ 7777777777777777 HH‘* 77777777777777 7‘”” 7777777777
TO OUTSIDE FACE NAILING i L i i i
BATTEN A To —— = = = = = — =_—— = = = — = = = = — -
SECTION ‘A=A’ = .- _ ] o e
I =1 il i i
3 - _—— = = = = — _——mm = = = — — — ,
I Z13 1 e - I
o|2 L —— ] ——— I [ e ———
o - e i
I M2 i it i
//‘\\ M o) X N o
ﬂ < — B ) S _—Hi
L ST IgE@g \ T | FGL y T AN N I
X X - R t
(BELOW 3/m HIGH>\ \ \; m 0 0 w HH
L — i
\ = [N [N [N
, = (N [N [N
BOARDS TRIMMED L o o ALL BOARDS SUPPLIED AT 4.8mlLg
TO SUIT AT ENDS\ 77777 ) & i COVER STRIPS TO i1 END BOARDS CUT TO 2.4mlg.
\ S ==== o i DISGUISE FIXINGS i BOARD JOINS ARE STAGGERED &
S - AT PUST PHSNS ARE CO-INCIDENT WITH POST POS'NS
M8 BOLTS STAGGERED 1 /
ACROSS WEB OF ‘I’ BEAM // @?;DEDBEQESVE JEWED ROu OUTene
CAPPING RAIL—_ -
DETAIL "B’ ?”m HIGH
Stowting Common
JJ] 9O k SOIS Near Ashford. Drawn  JR TMLE DETAIL OF JAKOQUSTIC HIGHWAY
KENT. TN25 6BN (3) 06/01/10  bolt size Date  11/06/07 FENCING SYSTEM — WITH CAPPING OPTION
Telephone : 01233 750393
FINE FENCING Faxi 01233 750403 (2) 22/11/08  FIXINGS ALTERED Checked AT CUSTOMER Drowing No.
Int. Tel : +44 (0)1233 750393) (1) 04/01/08  HEIGHTS SEPERATED _ J7/O1 047
This Drawing Is The Property Of H.S. Jackson & Son (Fencing) Ltd. Size Scal 1:30
And May Not Be Copied Or Reproduced In Any Way Without Prior Written Permission. @ 11/06/07 ORIGINAL ISSUE A3 €€ Los |ACK No. Sheet 1 — 2mH



jon
TextBox
AT



DO NOT SCALE — [IF IN DOUBT ASK

NOTES

MAT'L — STEEL POSTS

GALVANISED 127 x 76 x 15 UNINVERSAL BEAMS —

SECTIONS VARY WITH HEIGHT

— TIMBER TREATED WITH "JAK

CURE™ PROCESS

ACOUSTIC BOTTOM BOARD — 146 x 34 THK (125 Nom. FACE)
ACOUSTIC T&G BOARDS — 146 x 34 THK (125 Nom. FACE)
TIMBER BATTEN — 100 x 50 THK SAWN FINISH
CAPPING RAIL — 145 x 34 THK PAR

COVER STRIP — 125 x 34 THK PAR

COUNTER RAIL — /0 x 34 THK PAR

ALL FIXINGS ARE GALVANISED OR ST

_
—

AINLESS STEEL

,/ CAPPING RAIL
SCREWED TO COUNTER &
/ RAIL & NAIL BATTEN
COUNTER ; ‘
RAIL s — B
/ [ ] M8 BOLTS @ S00mm T T [l |
‘TIMBERLOK’ SCREWS AT MAX CENTRES T -
S00mm MAX CENTRESX / " ~
= 4 2
= / 4 e
COVER STRIP = I 2
(INo PER POST) B / H &
TO COVER BOARD =N / Tl
JOINTS AND FIXINGS - I =
—|\_ I =
T & G BOARDS 100 > 50 ! TO
TO OUTSIDE FACE e L =
SECTION "A-A7 A 0|5
<10
4 il
4 S|<
ip
8 O
il |2
N O
Qe
// T N N~
STEEL IBEAM \ i
127 x 76 x 13 UB F.GL
(BELOW 3nm HIGH)\ \ 1
}7
/ \ &
| L
>
BOARDS TRIMMED ) A
TO SUIT AT ENDS L]
ﬁ\g T-=—=== e
77777 >
J -

M8 BOLTS STAGGERED T—
ACROSS WEB OF ‘I’ BEAM

c400 TYPICAL

2350 TYPICAL 2400 TYPICAL INTERMEDIATE
- FND POST CENTRES _ INTERMEDIATE POST CENTRES |, POST CENTRES __
~
A~ =
N (@D} s
R o Iy INSIDE TE -
O - —
Ny e e —— -
’ﬁ7:::::j:::::‘::ﬁ‘ﬁ:7::::::::::::: - —_ - - —_—_— —— —_— —
~—B I ! (100> o

145>

TYP BOARD LENGTH 4800

END BOARD LENGTH 2400 |

- A

H
[N
i
i ALL BOARDS SUPPLIED AT 4.8mLg
COVER STRIPS TO I END BOARDS CUT TO 2.4mLg.
DISGUISE FIXINGS i BOARD JOINS ARE STAGGERED &
AT POST PUS'NS - ARE CO-INCIDENT WITH POST POS'NS

e BOTTOM BOARD
CAPPING RAIL— -~ VITH NO GRODVE VIEWED FROM OQOUTSIDE
DETAIL "B’ 2 5m HIGH
Stowting Common
J JC k SOIS Near Ashford, Drown JR TTLE  DETAIL OF JAKOUSTIC HIGHWAY
T hKENT' Tg'1225336B7N5O393 (3) 06/01/10  bolt size Date  11/06/07 FENCING SYSTEM — WITH CAPPING OPTION
elephone :
FINE FENCING Fax: 01233 750403 (2) 22/11/08  FIXINGS ALTERED Checked AT CUSTOMER Drawing No.
Int. Tel : +44 (0)1233 750393) (1) 04/01/08  HEIGHTS SEPERATED p— J'7//C)1()457
This Drawing Is The Property Of H.S. Jackson & Son (Fencing) Ltd. 1:30
And May Not BIZ égplir;?:l ?Dr Igep::g%eucyed In Anyq(\:Nos;nWithooL?t Pirocrm%Nritten Permission. @ 11/06/07 ORIGINAL ISSUE A3 Scale vos |ACK No. Sheet 1 — 2.5mH



jon
TextBox
AT



DO NOT SCALE — [IF IN DOUBT ASK

NOTES

MAT'L — STEEL POSTS

GALVANISED 152 x 89 x 16 UNIVERSAL BEAMS —

SECTIONS VARY WITH HEIGHT

— TIMBER TREATED WITH 'JAKCURE" PROCESS

ACOUSTIC BOTTOM BOARD — 146 x 34 THK (125 Nom. FACE)
ACOUSTIC T&G BOARDS — 146 x 34 THK (125 Nom. FACE)
TIMBER BATTEN — 100 x 50 THK SAWN FINISH
CAPPING RAIL — 145 x 34 THK PAR

COVER STRIP — 125 x 34 THK PAR

COUNTER RAIL — /0 x 34 THK PAR

ALL FIXINGS ARE GALVANISED OR STAINLESS STEEL

—

/ - \ e
p CAPPING RAIL ™
SCREWED TO COUNTER ‘
/// RATIL & NAIL BATTEN
COUNTER
RATL
{ | M8 BOLTS @ 500 o
TIMBERLOK’ SCREWS AT Pat MAX CENTRES O
S500mm MAX CENTRES == /
E ===
el /
COVER STRIP y ///
(INo PER POST) ===
TO COVER BOARD ’ -
JOINTS AND FIXINGS A -
T & G BOARDS o 100 x S0
TO DUTSIDE FACE gﬁ?#é%G

SECTION "A-A’

STEEL 'I"'BEAM
152 x 89 x 16 UB
(FOR 3-35m HIGH>

BOARDS TRIMMED | |

TO SUIT AT ENDS JQ o
\ \: — ===

M8 BOLTS STAGGERED 1=

~/0

r
3000 NOM. HEIGHT
(?4No ACOUSTIC BOARDSY

FGL

ACROSS WEB OF I BEAM

CAPPING RAIL— -

DETAIL "B’

EMBEDMENT

BOTTOM BOARD

2400 TYPICAL 2400 TYPICAL
2350 TYPICAL END INTERMEDIATE INTERMEDIATE
- POST CENTRES POST CENTRES POST CENTRES_
- S (89)
- & Iy INSIDE |l
/
# A )
\ EEEEEEE*EEEE:]::ﬁEEEEEEEEEEEEEQ‘EEEEEEEEEEEE
—— f | (100> ~
VS T m
o e
i ANV

TYP BOARD LENGTH 4800

END BOARD LENGTH 2400 |
- A

!
!
|
COVER STRIPS TO }
DISGUISE FIXINGS |
AT POST POS'NS L

WITH NO GRUOOVE

VIEWED FROM QOUTSIDE

ALL BOARDS SUPPLIED AT 4.8mlLqg
END BOARDS CUT TO 24mLa.

BOARD JOINS ARE STAGGERED &

ARE CO-INCIDENT WITH POST POS'NS

Sm HIGH

Jacksons
FINE FENCING

Stowting Common
Near Ashford,

KENT. TN25 6BN
Telephone : 01233 750393
Fax: 01233 750403
Int. Tel : +44 (0)1233 750393

This Drawing Is The Property Of H.S. Jackson & Son (Fencing) Ltd.
And May Not Be Copied Or Reproduced In Any Way Without Prior Written Permission.

(3) 06,/01/10
(2) 22/11/08
(1) 04/01/08
(0) 11/06/07

TTLE DETAIL OF JAKQUSTIC HIGHWAY
FENCING SYSTEM — WITH CAPPING OPTION

Drawn JR
bolt size Date 11/06/07
FIXINGS ALTERED

Checked AT
HEIGHTS SEPERATED .

Size 1:30
ORIGINAL ISSUE A3 Scale U0S

CUSTOMER

ACK No.

Drawing No.
J7/01047
Sheet 1 — 3mH



jon
TextBox
AT



DO NOT SCALE — [IF IN DOUBT ASK

NOTES 2400 TYPICAL
, 2350 TYPICAL 2400 TYPICAL INTERMEDIATE
MAT L — STEEL POSTS B END POST CENTRES ~_ INTERMEDIATE POST CENTRES | POST CENTRES
GALVANISED 178 x 102 x 19 UNIVERSAL BEAMS — -
SECTIONS VARY WITH HEIGHT -~ B | = SOD
P o 3 INSIDE v
— TIMBER TREATED WITH 'JAKCURE' PROCESS # / \ |
ACOUSTIC BOTTOM BOARD  — 146 x 34 THK (125 Nom. FACE) B F=———=====—=—==—===—=—=-kbE—S - —=—=——=—=———-
ACOUSTIC T&G BOARDS — 146 x 34 THK (125 Nom. FACE) -3 | 00> ~
TIMBER BATTEN — 100 x 50 THK SAWN FINISH ~ —— — >
CAPPING RAIL — 145 x 34 THK PAR ek TVYP BOARD LENGTH 4800 T
COVER STRIP — 125 x 34 THK PAR >
COUNTER RAIL — 70 x 34 THK PAR
- B END BOARD LENGTH 2400 N
ALL FIXINGS ARE GALVANISED OR STAINLESS STEEL m‘
¢ ! -
——
- = Hl 1 u N I mi
e e R il e —— e ——— —
SCREWED TO COUNTER 19 i < e N B —
/ RAIL & NAIL BATTEN D n 2 | = — = = — B I e — | =
COUNTER I | S tAfffffl I i —
RATL i - - ] e - - T
1 M8 BOLTS @ 500r - A A
TIMBERLOK’ SCREWS AT U MAX CENTRES i I I ik
500mm MAX CENTRES 71 } i e . -
- | | 2 e | — Ji————
COVER STRIP\\ ] / 4 ks e e e e = — e — = = —
(No PER POST E=== h = _———— = — — — — _—,————— = = — — — — — N —_—— == = — -
TO COVER BOARD Y / T D - e - | e - e - __ __ _
JOINTS AND FIXINGS . :/\/ I a8 . I e
T & G BOARDS o 100 xS0 H | | S — I I —
TO DUTSIDE FACE N ! %% ] I —— e — I —
/ / D
SECTION "A=A n o T — — — — e — — — — | ————————
il o T E— T E— ] EEEEEEE—
o~ L i
: e ————— e ——— | —
I a . o i
N~ I [N HH
T il ] 1 I || R
\ : N oo HNE
STEEL 'I'BEAM . e . I
178 x 102 x 19 UB i }H HH HH
(3.5-4.25m HIGH) A N ———_—_—_—,———— _———— e — — — — — —llr——————— -
\ 4 | P r T S —i M ——————————
\ i N e e
=t | oLy ] | H
5USurr et enps —~ LLA Ul | ) H R f H
TO SUIT AT ENDS >~ (g
fEfszs=s i i i i
L [ > (N (N L]
M8 BOLTS STA/G/GERED/ JE;L / ; B i o ALL BOARDS SUFPPLIED AT 4.8mlLag
- — B = o DISGUISE FIXINGS o BOARD JOINS ARE STAGGERED &
- i H AT PUST PHSNS H ARE CO-INCIDENT WITH POST POS'NS

e BTN EARD VIEWED FROM OUTSIDE 35m HIGH
Jacksons S:NEN;??NEE?B N orown JR TME  DETAIL OF JAKOUSTIC HIGHWAY
Telephone : 01233 750393 (3) 06/01/10  bolt size Date  11/06/07 FENCING SYSTEM — WITH CAPPING OPTION
FINE FENCING Fax: 01233 750403 (2) 22/11/08  FIXINGS ALTERED checked AT CUSTOMER Drawing No.
This Drawing Is The Property Of H.S Jocksolnnt& Zi:n :(F;:ri:rg)((zt); w R @ 04/01/08 MEIGRTS SEPERATED Size 1:30 ‘J7/Q1 047/
And May Not Be Copied Or Reproduced In Any Way Without Prior Written Permission. (0) 11/06/07  ORIGINAL ISSUE A3 Scale 05 |ACK No. Sheet 1 — 3.5mH



jon
TextBox
AT



DO NOT SCALE
NOTES

I

MAT'L — STEEL POSTS
GALVANISED 178 x 102 x
SECTIONS VARY WITH HEIGHT

— TIMBER TREATED WITH
ACOUSTIC BOTTOM BOARD
ACOUSTIC T&G BOARDS
TIMBER BATTEN
CAPPING RAIL
COVER STRIP
COUNTER RAIL

ALL FIXINGS ARE GALVANISED OR STAINLESS STEEL

—

;

CDUNTER///

RAIL

N DOUBT ASK

19 UNIVERSAL BEAMS —

"JAKCURE" PROCESS
146 x 34 THK (125 Nom. FACE)
146 x 34 THK (125 Nom. FACE)
100 x 50 THK SAWN FINISH
145 x 34 THK PAR

125 x 34 THK PAR

70 x 34 THK PAR

CAPPING RAIL
SCREWED TO COUNTER
RAIL & NAIL BATTEN

‘TIMBERLOK” SCREWS AT

l M8 BOLTS @ 500r
MAX CENTRES

S500mm MAX CENTRES

COVER STRIP

(INo PER POSTS

T0 COVER BOARD
JUINTS AND FIXINGS

T & G BOARDS
10 DUTSIDE FACE

SECTION

STEEL '['BEAM

178 x 102 x 19 UB
(35-425m HIGH

val

e

>/\100 x 50
'NATLING’

BATTEN
/AiA/

BOARDS TRIMMED

TO SUIT AT ENDS % 77777
\%ﬁf .

M8 BOLTS STAGGERED/*JL

ACROSS WEB 0OF I BEAM

CAPPING RAIL— ~—~

DETAIL "B’

2350 TYPICAL
END POST CENTRES

2400 TYPICAL
INTERMEDIATE POST CENTRES

2400 TYPICAL
INTERMEDIATE POST CENTRES

INSIDE

™

(145>

TYP BOARD L

ENGTH 4800

FND BOARD LENGTH 2400

- A

~/0
=

4000 NOM, HEIGHT
(32No ACOUSTIC BOARDSY

FGL

"EMBEDMENT

LI
BOTTOM BOARD

\
!
|
COVER STRIPS TO
DISGUISE FIXINGS
AT PUOST POS'NS L

VIEWED FROM OUTSIDE

WITH NO GROOVE

!
!
!
ALL BOARDS SUPPLIED AT 4.8mLg |
END BOARDS CUT TO 24mlg

BOARD JOINS ARE STAGGERED & }
ARE CO-INCIDENT WITH POST PUOS'NS L

4m HIGH

Jacksons

Stowting Common
Near Ashford,

KENT. TN25 6BN

FINE

FENCING

Telephone : 01233 750393
Fax: 01233 750403
Int. Tel :

+44 (0)1233 750393

This Drawing Is The Property Of H.S. Jackson & Son (Fencing) Ltd.

And May Not Be Copied Or Reproduced In Any Way Without Prior Written Permission.

(3) 06/01/10
(2) 22/11/08
(1) 04/01/08
{0) 09/04/07

bolt size

FIXINGS ALTERED
HEIGHTS SEPERATED
ORIGINAL ISSUE

JR

Drawn

TTLE - DETAIL OF JAKOUSTIC HIGHWAY

Date

11,/06/07

FENCING SYSTEM WITH CAPPING OPTION

Checked

AT

CUSTOMER Drawing No.

Size

A3

Scale

J7/01047

Sheet 1 — 4mH

1:30

U.0.s ACK No.



jon
TextBox
AT



DO NOT SCALE — IF IN DOUBT ASK

m 2350 TYPICAL 2400 TYPICAL 2400 TYPICAL
END POST CENTRES INTERMEDIATE POST CENTRES INTERMEDIATE POST CENTRES
MAT’L — STEEL POSTS
GALVANISED 254 x 102 x 22 UNIVERSAL BEAMS — 2 5 ; |02
SECTIONS VARY WITH HEIGHT | /;\ ® 5 - INSIDE 1 il
— TIMBER TREATED WITH 'JAKCURE" PROCESS E 77777 rii* - 0 -
ACOUSTIC BOTTOM BOARD  — 146 x 34 THK (125 Nom. FACE) n - (100 5
ACOUSTIC T&G BOARDS — 146 x 34 THK (125 Nom. FACE) Q ™
TIMBER BATTEN — 100 x 50 THK SAWN FINISH N TYP BOARD LENGTH 4800
CAPPING RAIL — 145 x 34 THK PAR
COVER STRIP — 125 x 34 THK PAR 2 END BUARD LENGTH 2400
COUNTER RAIL — /0 x 34 THK PAR ‘ ‘ - A
ALL FIXINGS ARE GALVANISED OR STAINLESS STEEL 4 ’u’ 77777777777777 ’u’ 77777777777777 T =
Nl e - - Mo ] ::
. : : — s ———— ——— =
// CAPPING RAIL | o . |
SCREWED TO COUNTER e - e .. . . T — =
/ RAIL & NAIL BATTEN nn | - e . |
COUNTER e . - - - - - _ _ e . .- e — l—
RAIL e e H —
] M8 BOLTS @ S00: e - ii 77777777777777 i;
"TIMBERLDOK’ SCREWS AT MAX CENTRES ~ o o —— e - 1
S00mm MAX CENTRES / / 2 e - — 0 - [ i
== . | I
- N e% —_——————————— = f———————— e — — — — — f—_—— =
T / 5 | | S | =
WCPYER ST / I ——— e — e —— =
¢ e U 2 1 I N N o N B | e T ] e | =
TO COVER BOARD A p e W - 1 - _ |
JOINTS AND FIXINGS —— \( s = ; e e e — l—
B 100 x 50 g e, f————— e e =
T & G BOARDS , , u |
TO OUTSIDE FACE NATLING i{ls s 1 ] L
SECTION ‘A=A’ =1 e - - |
<2 — ] — e -
N NG e - - - ] — = ::
_ ™ e = A — ) |
- T T~ ~ eyt Y V- W W WV e I
P ] ————— | ———— | ————— '
’ \ | S o L
\ S I —— e |
T e - _ e . - - N I
STEEL ‘I’BEAM \ e . - |~
254 x 102 x 22 UB M - e - - N |7
(45-4.8m HIGH) ‘ i ——— - - - =
/ —  E— — - jm
e n e PR, e =
BOARDS TRIMMED A / FoL u ‘} l} :
1S A ENQ\M%J / | = i I i i i
ﬁizz:ﬁ < I e I M N
. o|z ! H ALL BOARDS SUPPLIED AT 4.8 "
S i Il 8mLg I
jonlB BOLTS STAGGERED b VA T S e o COVER STRIPS TO i END BOARDS CUT TO 2.4nmlaq. i
| = h DISGUISE FIXINGS h BOARD JOINS ARE STAGGERED & i
CAPPING RAIL L L) UU AT POST POS'NS UU ARE CO-INCIDENT WITH POST POS'NS AU
DETALL B VIEWED FROM OUTSIDE 4 5m HIGH
Stowting Common
JJ] 3 k SOTLS Near Ashford, Drown  JR TTLE DETAIL OF JAKOUSTIC HIGHWAY
T hKENT' T§12;336B7N50393 (3) 06/01/10  bolt size Date  11/06/07 FENCING SYSTEM — WITH CAPPING OPTION
elepnone !
FINE FENCING Fax: 01233 750403 (2) 22/11/08  FIXINGS ALTERED Cheored AT CUSTOMER Drawing No,
Int. Tel : +44 (0)1233 750393| (1) 04/01/08  HEIGHTS SEPERATED : J7/01047
This Drawing Is The Property Of H.S. Jackson & Son (Fencing) Ltd. Size Scal 1:30
And May Not Be Copied Or Reproduced In Any Way Without Prior Written Permission. @ 09/04/07 ORIGINAL ISSUE A3 € LUos |ACK No. Sheet 1 — 4.5mH



jon
TextBox
AT



DO NOT SCALE IF IN DOUBT ASK

2350 TYPICAL
END POST CENTRES

2400 TYPICAL

2400 TYPICAL

NOTES L | INTERMEDIATE POST CENTRES==INTERMEDMTE POST CENTRES=A
~ a | el €102
N < — | |-
MAT L — STEEL POSTS (:=\ ™ 1y . INSIDE -4 -
GALVANISED 305 x 102 x 25 UNIVERSAL BEAMS — ‘ S R — I N —————————————.O-—
B T »‘ (100> ~
— TIMBER TREATED WITH "JAKCURE’ PROCESS B =
ACOUSTIC BOTTOM BOARD — 146 x 34 THK (125 Nom. FACE) = TYP BOARD LENGTH 4800 ~
ACOUSTIC T&G BOARDS — 146 x 34 THK (WZS Nom. FACE) - - =
TIMBER BATTEN — 100 x 50 THK SAWN FINISH & END BOARD LENGTH 2400
CAPPING RAIL — 145 x 34 THK PAR ; ; A ‘
COVER STRIP — 125 x 34 THK PAR e e —
COUNTER RAIL — /0 x 34 THK PAR f I I | e ————————— 1] e ——————————— [ e —————— i
N I += I
- o |———————————- | e —————— ———————————— i
ALL FIXINGS ARE GALVANISED OR STAINLESS STEEL 2 ~ || —— — ————— _— — |
e - - - ] —~— ] I e 1 | —
I I
- ] e ———— | e ——— | e —— u
- B \ R e . . |
// CAPPING RAIL N —— | | EEEEEEEEEEEE— }}
SCREWED TO COUNTER e e | H
/ RAIL & NAIL BATTEN I I e |
COUNTER e — — ————— — — _—_—— u
RAIL —_————— = — — — — _———= = — — | |
W M8 BOLTS @ 500mm - . B — | u
'TIMBERLOK’ SCREWS AT MAX CENTRES » | N e |
S00mm MAX CENTRES A — — B u
== e I — — — — I — — — ———— e — — — — — |
itz o< e - - - - - _| e - - - .. _| u ffffffffffffff |
:,D{;@ / J - -] e ] - - - - - - - . ] |
pgyas I I
COVER STRIP =5 — . 1 . 0w - - “
(INo PER POST) == / TO N 0. - |
TO COVER BOARD y = e 1 e ] u
JOINTS AND FIXINGS —— \< =|9 1 1 - !
I 100 x 50 = u u
T & G BOARDS ! g O L — . 1
TO DUTSIDE FACE BNAATIT%NNG H olZ | - - ii
SECTION ‘A-4 % o = e _— i
7777777777777777777777777777 ” - - - — — — — — ]
/ -~ T~ § ii 77777777777777 ii 77777777777777 u 77777777777777 u
N N [ REENINENEN————N————————————————— I
e RN | | e - —e u
/ \ | e | I | S |
/ u u “ !
\ = — — — = — f_—————————— — — !
|———————————— | e ——— ————————————— i
STEEL ‘I’BEAM ! 1 — | I }}
305 x 102 x 25 UB N I e e e ] = |
Sm HIGH N ) ii —————————————— ii —————————————— ii —————————————— |
| e . e I
fffffff B Y R R R I EER—N—————————————————————————————....,
4y | ——  E——— N ——— ] ——————— |
BOARDS TRIMMED o e 1IN | “
TO SUIT AT EN\DS\ % %j% 77777 / T FGL ‘ }} “ “ 11
7:555 I i [ I ‘u‘ ‘“‘
e B0 1e mm@}ﬁﬁg/i / | = H Q% H ALL BOARDS SUPPLIED AT 4.8mlg o
b S — | olL i = i END BOARDS CUT TO 2.4mlLg, I
ACROSS WEB OF ‘I' BEAM >
J BOTTOM BOARD  SI5 o COVER STRIPS TO H BOARD JOINS ARE STAGGERED & i
CAPEING BALL WITH “ND ﬁRDDVE = i DISCUISE FIXINGS ! ARE CO-INCIDENT WITH POST POS'NS i
[N [N
- 1 AT POST POS'NS - VIEWED FROM OQOUTSIDE i
DETAIL ‘B L 1 L1 L] L 5m HIG
Stowting Common
J 3¢ k SOTLS Near Ashford, Drown  JR TMLE DETAIL OF JAKOUSTIC HIGHWAY
o hKENT' T§12;336B7N50393 (3) 06/01/10  bolt size Date  11/06/07 FENCING SYSTEM — WITH CAPPING OPTION
elepnone !
FINE FENCING Fax: 01233 750403 (2) 22/11/08  FIXINGS ALTERED S CUSTOMER Drawing No,
Int. Tel : +44 (0)1233 750393| (1) 04/01/08  HEIGHTS SEPERATED : J7/01047
This Drawing Is The Property Of H.S. Jackson & Son (Fencing) Ltd. 09/04/07 ORIGINAL ISSUE Size Scale 1:30
And May Not Be Copied Or Reproduced In Any Way Without Prior Written Permission. @ /04/ A3 uv.os |ACK No. Sheet 1 — 5mH



jon
TextBox
AT



NOTES LTI
MAT’L — STEEL POSTS 1]
GALVANISED UNIVERSAL BEAMS (145>
— SECTIONS VARY WITH HEIGHT (SEE TABLE BELOW) » il
OO
— 11
~ TIMBER o n
TREATED WITH 'JAKCURE’ PROCESS 2 L i
ACOUSTIC BOTTOM BOARD o= i
— 146 x 34 THK (125 Nom. FACE) NOM. HEIGHT POST SECTION POST MB x 65 BOLTS|M8 x 65 BOLTS =
ACOUSTIC T&GC BOARDS OF FENCE (SIZE) LENGTH  |(QTY INTERS)|(QTY CORNERS) = i
— 146 x 34 THK (125 Nom. FACE) 000 P T R P 4 . o
TIMBER BATTEN z O STEEL ’I’ BEAM
— 100 x 50 THK SAWN FINISH 2400 127 x 76 x 13 UB 3200 5 10 - I (SECTION VARIES
CAPPING RAIL 2500 127 x 76 x 13 UB 3300 5 19 gg EZQ@" WITH HEIGHT)
— 145 x 34 THK PAR 2700 127 x 76 x 13 UB 6 12 N \E%ﬁ*
COVER STRIP 2500 5 i
— 125 x 34 THK PAR 3000 152 x 89 x 16 UB 3800 7 14 = |
COUNTER RAIL 3500 178 x 102 x 19 UB 4400 8 16 i M 100 x 50 NAIL BATTENS FITTED
— 70 x 34 THK PAR P — o p— - = H TO BOTH WEBS AND M8 BOLTS
] STAGGERED ACROSS WEBS OF ‘I’ BEAM
ALL FIXINGS ARE GALVANISED OR 4500 254 x 102 x 22 UB 5500 10 20 “ g -
STAINLESS STEEL. 5000 305 x 102 x 25 UB 6000 [ 22 ' ﬁ:;dﬂiL:::::::::::::::::::::::
— ﬂi::::::::::::::::::::::::
. -
2400 END OF ACOUSTIC BOARDS TO IST INTER POST
CORNER JOINT —
STD INTERMEDIATE WITH 125 x 35 mm
STEEL ‘I’ BEAM COVER STRIPS o
(SECTION VARIES CORNERS — 90
WITH HEIGHT)
—
'DOUBLE POSTED” CHRNERS

NEATLY MITRE CAPPING RAIL/

MAX. 300

0 SUIT REQ'D ANGLE

BUTT ENDS 0OF BOARDS AS CLOSELY
TUOGETHER AS POSSIBLE AND SECURE

REDUCE END-INTERMEDIATE POST

CENTRES TO ALLOW ACOUSTIC BOARDS

T SAIL PAST POSTS — BY ENOUGH TO
ALLOW THE POSTS TO NOT INTERFERE WITH
EACH OTHER (DEPENDS ON SIZE 0OF POSTO

c400 END 0OF ACOUSTIC BOARDS TO 1st INTER

POST

WITH 125 x 35 mm COVER STRIPS

Stowting Common

JJ] 3 @k% O S Noar Ashford. Drawn  JR TTLE JAKOUSTIC HIGHWAY FENCING SYSTEM
o hKENT' T§12;336B7N50393 Date  04/01/08 WITH CAPPING OPTION — CORNERS
elephone : .

FINE FENCING Fax: 01233 750403 (2) 06/01/10  bolt size Chocked AT CUSTOMER Drawing No,

Int. Tel : +44 (0)1233 750393 @ 22/11/08 FIXINGS ALTERED p— J7/O1 047
This Drawing Is The Property Of H.S. Jackson & Son (Fencing) Ltd. 1:10
And May Not Blse égplir;% ?Dr Igep:%%eucyed In Anya(\:lvg;nWithooL?t Piirg:rm%Vritten Permission. @ 04,/01/08 ORIGINAL ISSUE A3 Scale vos |ACK No. Sheet 2



jon
TextBox
AT



